

## County of Hernando

# Procurement Department

Carla Rossiter-Smith, Chief Procurement Officer 15470 Flight Path Drive, Brooksville, FL 34604

#### **EVALUATION TABULATION**

PQu No. 23-T00040/AP Q 36A

Reconstruction of Water Main for Companero Entra PH II: Phase 2 (re-bid)

RESPONSE DEADLINE: July 21, 2025 at 5:00 pm Report Generated: Tuesday, July 22, 2025

#### **SELECTED VENDOR TOTALS**

Vendor	Total
Goodwin Brothers Construction, Inc	\$440,259.09

## COMPANERO ENTRA WATER MAIN REPLACEMENT PHASE 2

COMPANERO ENTRA WATER MAIN REPLACEMENT PHASE 2					Goodwin Brothers Construction, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
I. GENERAL CO	NDITIONS					
Х	1	MOBILIZATION / DEMOBILIZATION	1	LS	\$10,000.00	\$10,000.00
Х	2	BONDING & INSURANCE	1	LS	\$21,500.00	\$21,500.00
Х	3	MAINTNANCE OF TRAFFIC	1	LS	\$10,000.00	\$10,000.00
Х	4	CONSTRUCTION SURVEY LAYOUT / AS-BUILT	1	LS	\$8,500.00	\$8,500.00
Х	5	EROSION AND SEDIMENT CONTROL	1	LS	\$6,500.00	\$6,500.00
Х	6	PRE-POST COLOR AUDIO VIDEO RECORDINGS	1	LS	\$1,500.00	\$1,500.00

## EVALUATION TABULATION PQu No. 23-T00040/AP Q 36A

Reconstruction of Water Main for Companero Entra PH II: Phase 2 (re-bid)

COMPANERO ENTRA WATER MAIN REPLACEMENT PHASE 2					Goodwin Brothers Construction, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	7	GOPHER TORTOISE SURVEY AND PERMITTING	1	LS	\$3,800.00	\$3,800.00
Х	8	GOPHER TORTOISE TO BE BUCKET TRAPPED, PULLED, OR MONITORED (UP TO 3)	3	EA	\$1,800.00	\$5,400.00
X	9	GOPHER TORTOISE RELOCATION (UP TO 3)	3	EA	\$8,640.00	\$25,920.00
X	10	ABANDON WATER MAIN IN PLACE	1	LS	\$4,800.00	\$4,800.00
II. CAMELIA D	RIVE			I	1	1
Х	11	FURNISH AND INSTALL 4" C-900 DR18 PVC	390	LF	\$102.39	\$39,932.10
Х	12	CONNECTION BETWEEN PROPOSED 4" WM TO EXISTING REDUCER / GATE VALVE	2	EA	\$6,050.64	\$12,101.28
X	13	TAP AND CONNECT EXISTING WATER SERVICES (4 SHORT , 3 LONG)	7	EA	\$3,499.20	\$24,494.40
Х	14	4" 45 DEGREE DIP FITTINGS	2	EA	\$558.93	\$1,117.86
Х	15	THRUST BLOCK	5	EA	\$93.60	\$468.00
III. ORCHARD	DR			I	1	1
X	16	FURNISH AND INSTALL 4" C-900 DR18 PVC	315	LF	\$102.39	\$32,252.85
Х	17	CONNECTION BETWEEN PROPOSED 4" WM TO EXISTING REDUCER / GATE VALVE	2	EA	\$6,050.64	\$12,101.28
Χ	18	TAP AND CONNECT EXISTING WATER SERVICES (3 SHORT , 3 LONG)	6	EA	\$3,499.20	\$20,995.20

EVALUATION TABULATION

Request for Quotation - Reconstruction of Water Main for Companero Entra PH II: Phase 2 (re-bid)

Page 2

## EVALUATION TABULATION PQu No. 23-T00040/AP Q 36A

Reconstruction of Water Main for Companero Entra PH II: Phase 2 (re-bid)

COMPANERO ENTRA WATER MAIN REPLACEMENT PHASE 2					Goodwin Brothers Construction, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	19	4" 45 DEGREE DIP FITTINGS	4	EA	\$558.93	\$2,235.72
Х	20	THRUST BLOCK	4	EA	\$93.60	\$374.40
/. LILY DRIVE	l			1	1	
Х	21	FURNISH AND INSTALL 4" C-900 DR18 PVC	405	LF	\$102.39	\$41,467.9
Х	22	CONNECTION BETWEEN PROPOSED 4" WM TO EXISTING REDUCER / GATE VALVE	2	EA	\$6,050.64	\$12,101.2
Χ	23	TAP AND CONNECT EXISTING WATER SERVICES (3 SHORT , 4 LONG)	7	EA	\$3,499.20	\$24,494.4
Х	24	4" 45 DEGREE DIP FITTINGS	4	EA	\$558.93	\$2,235.72
Х	25	THRUST BLOCK	4	EA	\$93.60	\$374.40
Х	26	4" GATE VALVE	1	EA	\$2,784.00	\$2,784.00
Х	27	4"X2" REDUCER	1	EA	\$257.56	\$257.56
Х	28	2" TEE	1	EA	\$56.84	\$56.84
Х	29	2" COUPLING	2	EA	\$6.00	\$12.00
Х	30	2" POLY	20	LF	\$4.23	\$84.60
X	31	DRIVEWAY REPLACEMENT (4159 LILY DR, 4115 LILY DR)	2	EA	\$11,146.80	\$22,293.6

EVALUATION TABULATION

Request for Quotation - Reconstruction of Water Main for Companero Entra PH II: Phase 2 (re-bid)

Page 3

## **EVALUATION TABULATION** PQu No. 23-T00040/AP Q 36A

Reconstruction of Water Main for Companero Entra PH II: Phase 2 (re-bid)

COMPANERO ENTRA WATER MAIN REPLACEMENT PHASE 2					Goodwin Brothers Construction, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
Х	32	FURNISH AND INSTALL 4" C-900 DR18 PVC	375	LF	\$102.39	\$38,396.25
Х	33	CONNECTION BETWEEN PROPOSED 4" WM TO EXISTING REDUCER / GATE VALVE	2	EA	\$6,050.64	\$12,101.28
Х	34	TAP AND CONNECT EXISTING WATER SERVICES (2 SHORT , 3 LONG)	5	EA	\$3,499.20	\$17,496.00
Χ	35	4" 45 DEGREE DIP FITTINGS	4	EA	\$558.93	\$2,235.72
Х	36	THRUST BLOCK	4	EA	\$93.60	\$374.40
Х	37	DECRATIVE ROCK REPLACMENT (4052 CENTAVO CT)	1	EA	\$4,500.00	\$4,500.00
/I. RESTORAT	ON				1	
Х	38	SOD RESTORATION	1	LS	\$15,000.00	\$15,000.00
Total						\$440,259.09

## VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	Goodwin Brothers Construction, Inc
Bid Confirmation	Pass
Anti-Human Trafficking Affidavit	Pass
Foreign Countries of Concern	Pass

Alisa Pike

7-22-25

EVALUATION TABULATION

Request for Quotation - Reconstruction of Water Main for Companero Entra PH II: Phase 2 (re-bid)

Page 4